6. Second-Degree Equations.notebook October 20, 2022

Example:  In the figure, pQ divides rectangle 4BCD into
two quadrilaterals: square APQD and rectangle

l\_ h PBCQ.(The area of rectangle ABCD is 120cm
=Lw In addition, mDQ = (x)cm and mQC = (x +8)cm.

(zx‘g\. X= AWhat is the numerical area of rectangle PBCQ?

x(2xav)=120
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oda ,a fatheris 2 years older than tI‘iPlC his son's agc
Mmaldy
lve years ago, the‘p;g&(_t of their ggcﬁ %ZO )How
wn b newas Cvania
old is the father now? @ 2 hmeo
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Todag) a mother's age is two years more than double

her son's age. ]n ten years, thslc their ages

will be 2040. How old are theg toclag ?

Future
Ax+ |2
X+ (0

A & 3Ly +N0=2040 e wrdor
Q\C‘ + 3Lk 4120 - 20~ 2090- WD X=2y X210
A3l —1920=0

2 P
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T he (Quadratic Iormula
2

The area of this Figure IS
equal to 103.75¢cm’”.

Determine the numerical
& +5

leng’ch of each side .
f‘Q—-\ /\’@-’\
2x (Sx — 3) + (3x + 5) (7x — 1) =103.75
10x” Z6x+21x’ Br+355-5=103.75
31x” +26x —5=103.75
31x* 4+ 26x—108.75=0
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2 tos 75— RS

The c]uadratic formula Provides a solution to any

quadratic (seconchegree) equation.

=__>ax2+bx+c=0
V =
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Example:

B —bi\/b2 —4ac
2a

X

axt+bx+c=0

31x" +26x-108.75=0
a b C

| tb!

(o 22046 4B 108.75)Y

B 2(31) = 62
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__ 2614161 | 26 2 11

62 - b2
/ \‘>
_—26+119 ~26-119

2 —
1 X = X 62
=B s P Y
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bx — 3 =4.5

8x+2=14 Sx—1=6.5

Ix +5=9.5

Ix—1=95
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Examp]e: =~ F\b=4ac
Solve 15X’ EHEY=0, e
25 {(2JF4015)(-8) A1
2(15)
244480
30
xzziJﬂﬁ
30
222
30

2+22 24 4
xX= =—=—  or X
30 30 5 30 30 3
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